
Correction de mardi 19 ce2 

Exercice 8 page 39 

 

Deux-cent-mille-six-cent-trois = 200 603 

Cinq-cent-vingt-mille-huit-cent-quarante = 520 840 

Quatre-vingt-dix-mille-trente = 90 030 

Trois-cent-trois-mille-soixante et onze = 303 071  

Huit-cent-quarante-mille-cinquante = 840 050  

Soixante-dix-mille-quarante-quatre = 70 044 

Quatre-vingt-quatorze-mille-deux = 94 002 

Trois-cent-mille-cent = 300 100 

 

Exercice 10 page 39 

800 062             200 068      802 060         260 008        268 000   

 


